

XX - Worksheet - 4.2 Factoring Quadratic Equations

Pg 230 #3: Factor completely.

$$x^2 + x - 20$$

$$(x+5)(x-4)$$

$$\square + \square = 1$$

$$\square \times \square = -20$$

$$1, 20$$

$$2, 10$$

$$4, 5$$

$$x^2 - 12x + 36$$

$$(x-6)(x-6)$$

$$\text{or}$$

$$(x-6)^2$$

$$\frac{1}{4}x^2 + 2x + 3$$

$$\frac{1}{4}(x^2 + 8x + 12)$$

$$\frac{1}{4}(x+2)(x+6)$$

$$\square + \square = 8$$

$$\square \times \square = 12$$

$$1, 12$$

$$2, 6$$

$$3, 4$$

$$2x^2 + 12x + 18$$

$$2(x^2 + 6x + 9)$$

$$2(x+3)(x+3)$$

$$2(x+3)^2$$

Pg 230 #4ac: Factor each expression.

$$4y^2 - 9x^2$$

$$(2y + 3x)(2y - 3x)$$

$$\frac{1}{4}s^2 - \frac{9}{25}t^2$$

$$\left(\frac{1}{2}s - \frac{3}{5}t\right)\left(\frac{1}{2}s + \frac{3}{5}t\right)$$

Pg 230 #5ac: Factor each expression.

$$(x+2)^2 - (x+2) - 42$$

$$\text{Let } y = (x+2)$$

$$y^2 - y - 42$$

$$(y+6)(y-7)$$

$$(x+2+6)(x+2-7)$$

$$(x+8)(x-5)$$

$$\square + \square = -1$$

$$\square \times \square = -42$$

$$1, 42$$

$$2, 21$$

$$3, 14$$

$$6, 7$$

$$(4j-2)^2 - (2+4j)^2$$

$$[(4j-2) + (2+4j)][(4j-2) - (2+4j)]$$

$$[4j-2+2+4j][4j-2-2-4j]$$

$$[8j][-4]$$

Pg 230 #7ace: Solve each factored equation.

$$(x+3)(x+4) = 0$$

$$\begin{array}{l} \swarrow \quad \searrow \\ x+3=0 \quad x+4=0 \\ x=-3 \quad x=-4 \end{array}$$

$$\text{So } x = -4 \text{ or } -3$$

$$(x+7)(x-8) = 0$$

$$\begin{array}{l} \swarrow \quad \searrow \\ x+7=0 \quad x-8=0 \\ x=-7 \quad x=8 \end{array}$$

$$\text{So } x = -7, 8$$

$$(3x+1)(5x-4) = 0$$

$$\begin{array}{l} \swarrow \quad \searrow \\ 3x+1=0 \quad 5x-4=0 \\ 3x=-1 \quad 5x=4 \\ x=-1/3 \quad x=4/5 \end{array}$$

Pg 230 #8ace: Solve each quadratic equation by factoring. Check your answers.

$$10n^2 - 40 = 0$$

$$10(n^2 - 4) = 0$$

$$10(n+2)(n-2) = 0$$

$$\begin{array}{l} \swarrow \quad \searrow \\ n+2=0 \quad n-2=0 \\ n=-2 \quad n=2 \end{array}$$

$$n = -2, 2$$

$$3w^2 + 28w + 9 = 0$$

$$\begin{array}{l} \square + \square = 28 \\ \square \times \square = 27 \end{array}$$

$$\begin{array}{l} 1, 27 \\ 3, 9 \end{array}$$

$$3w^2 + 1w + 27w + 9 = 0$$

$$(3w^2 + 1w) + (27w + 9) = 0$$

$$w(3w+1) + 9(3w+1) = 0$$

$$(3w+1)(w+9) = 0$$

$$\begin{array}{l} \swarrow \quad \searrow \\ 3w+1=0 \quad w+9=0 \\ w=-1/3 \quad w=-9 \end{array}$$

$$w = -9, -1/3$$

$$d^2 + \frac{5}{2}d + \frac{3}{2} = 0$$

$$\frac{1}{2}(2d^2 + 5d + 3) = 0 \quad \begin{array}{l} 2 \quad 3 \\ \square + \square = 5 \\ \square \times \square = 6 \end{array}$$

$$\frac{1}{2}[2d^2 + 2d + 3d + 3] = 0$$

$$\frac{1}{2}[(2d^2 + 2d) + (3d + 3)] = 0$$

$$\frac{1}{2}[2d(d+1) + 3(d+1)] = 0$$

$$\frac{1}{2}(d+1)(2d+3) = 0$$

$$\begin{array}{l} \swarrow \quad \searrow \\ d+1=0 \quad 2d+3=0 \\ d=-1 \quad 2d=-3 \\ \quad \quad d=-3/2 \end{array}$$

$$d = -1, -3/2$$

Pg 230 #10ace: Solve each equation.

$$42 = x^2 - x$$

$$0 = x^2 - x - 42 \quad \begin{array}{l} \square + \square = -1 \\ \square \times \square = -42 \end{array}$$

$$0 = (x-7)(x+6)$$

$$\begin{array}{l} \swarrow \quad \searrow \\ x-7=0 \quad x+6=0 \\ x=7 \quad x=-6 \end{array}$$

$$x = -6, 7$$

$$y^2 + 4y = 21$$

$$y^2 + 4y - 21 = 0 \quad \begin{array}{l} -3 \quad +7 \\ \square + \square = 4 \\ \square \times \square = -21 \end{array}$$

$$(y-3)(y+7) = 0$$

$$\begin{array}{l} \swarrow \quad \searrow \\ y-3=0 \quad y+7=0 \\ y=3 \quad y=-7 \end{array}$$

$$y = -7, 3$$

$$3x^2 + 9x = 30$$

$$3x^2 + 9x - 30 = 0$$

$$3(x^2 + 3x - 10) = 0 \quad \begin{array}{l} -2 \quad +5 \\ \square + \square = 3 \\ \square \times \square = -10 \end{array}$$

$$3(x-2)(x+5) = 0$$

$$\begin{array}{l} \swarrow \quad \searrow \\ x-2=0 \quad x+5=0 \\ x=2 \quad x=-5 \end{array}$$

$$x = -5, 2$$



Pg 230 #19: Solve each equation.

$$x(2x - 3) - 2(3 + 2x) = -4(x + 1)$$

$$2x^2 - 3x - 6 - 4x = -4x - 4$$

$$2x^2 - 7x - 6 = -4x - 4$$

$$2x^2 - 3x - 2 = 0 \quad \begin{array}{l} +1 \quad -4 \\ \square + \square = -3 \\ \square \times \square = -4 \end{array}$$

$$2x^2 + 1x - 4x - 2 = 0$$

$$(2x^2 + 1x) + (-4x - 2) = 0$$

$$x(2x + 1) - 2(2x + 1) = 0$$

$$(2x + 1)(x - 2) = 0$$

$$\begin{array}{l} \swarrow \quad \searrow \\ 2x + 1 = 0 \quad x - 2 = 0 \\ x = -\frac{1}{2} \quad x = 2 \end{array}$$

$$\text{So } x = +2, -\frac{1}{2}$$

$$3(x - 2)(x + 1) - 4 = 2(x - 1)^2$$

$$3(x^2 + 1x - 2x - 2) - 4 = 2(x^2 - 1x - 1x + 1)$$

$$3(x^2 - x - 2) - 4 = 2(x^2 - 2x + 1)$$

$$3x^2 - 3x - 6 - 4 = 2x^2 - 4x + 2$$

$$3x^2 - 3x - 10 = 2x^2 - 4x + 2$$

$$\rightarrow 2x^2 + 4x - 2 \quad -2x^2 + 4x - 2$$

$$x^2 + x - 12 = 0$$

$$\begin{array}{l} \square + \square = 1 \\ \square \times \square = -12 \end{array}$$

$$(x + 4)(x - 3) = 0$$

$$\begin{array}{l} \swarrow \quad \searrow \\ x + 4 = 0 \quad x - 3 = 0 \\ x = -4 \quad x = 3 \end{array}$$

$$\begin{array}{l} 1, 12 \\ 2, 6 \\ 3, 4 \end{array}$$

$$\text{So } x = -4, 3$$